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$EVWUDFW
(TXDOLW\ EHWZHHQ PHQ DQG ZRPHQ KDV EHHQ D EDVLF VWDWH SROLF\ LQ WKH 3HRSOH
V

5HSXEOLF RI &KLQD VLQFH LWV LQFHSWLRQ DQG KDV DGYDQFHG VLJQLILFDQWO\ GXULQJ WKH HDUO\

VWDJHV RI VRFLDOLVP� 2Q WKH FRQWUDU\� WKHUH KDV EHHQ D KLVWRULF UHYHUVDO LQ JHQGHU

DZDUHQHVV DQG D SURJUHVVLYH ZLGHQLQJ RI WKH JHQGHU JDS� ZKLFK LV DW RGGV ZLWK

&KLQD
V HFRQRPLF JDLQV� DV UHIRUP DQG RSHQLQJ XS KDYH DGYDQFHG JUDGXDOO\ DQG

&KLQD KDV JURZQ WR EH D VLJQLILFDQW SOD\HU LQ WKH JOREDO HFRQRP\� )URP WKH

SHUVSHFWLYHV RI GLVFULPLQDWLRQ DJDLQVW ZRPHQ LQ WKH ZRUNSODFH DQG WKH FRQIOLFW

EHWZHHQ ZRPHQ WDNLQJ FDUH RI WKHLU IDPLOLHV� WKH ODWHQW LQHTXDOLWLHV LQ WKH ILHOG RI

HGXFDWLRQ� DQG WKH LVVXHV ZRPHQ HQFRXQWHU LQ WKH PDUULDJH V\VWHP LQ WHUPV RI GDWLQJ�

PDUULDJH� DQG GLYRUFH� WKLV DUWLFOH ZLOO GLVFXVV WKH PRVW QRWDEOH PDQLIHVWDWLRQV RI

JHQGHU LQHTXDOLW\ LQ &KLQD DQG WKH FDXVHV RI WKHVH SKHQRPHQD� 6SHFLILFDOO\�

&RQIXFLDQ SDWULDUFKDO LGHRORJ\� VRFLHWDO QRUPV RI JHQGHU UROHV XQGHU VWDWH

FROOHFWLYLVP� DQG WKH HOLPLQDWLRQ RI WKH VRFLDO VDIHW\ V\VWHP GXH WR PDUNHWL]DWLRQ� 7KH

JRYHUQPHQW
V GHJUHH RI LPSOHPHQWDWLRQ LV PXGGOHG GXULQJ WKH OHJDO FRPSOLDQFH

SURFHVV� DQG WKH DFWXDO RXWFRPH LV DW RGGV ZLWK WKH LQLWLDO SROLF\ SXUSRVH�

.H\ZRUGV
*HQGHU LQHTXDOLW\� IHPLQLVP� SDWULDUFK\� FROOHFWLYLVP� VRFLDO UROHV


